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QUESTION 1

To enhance their businesses, how should customers road to the explosion of data at the edge? 

A. They should change the architecture of their networks so that they can backhaul all of this data to the data center for
storage. 

B. They should deploy solutions to analyze and act on the data so that they can deliver now operational efficiencies and
revenue streams. 

C. They should look for multiple, specialized network management tools that let admins segments of traffic Mow in
isolation. 

D. They should implement perimeter security so that they can keep excessive data out of their corporate network 

Correct Answer: B 

 

QUESTION 2

You are proposing Aruba Wi-Fi 6 APs as part of an Aruba ESP solution. The customer says. "Many vendors one Wi-Fi
6. What makes Aruba different?" 

What is one of the ways that this Aruba solution helps customers gain more benefits from Wi-Fi 6? 

A. Aruba Network Analytics Engine (NAE) analyzes the RF environment and moves APs to the correct channel to
minimize noise and enhance the signal. 

B. Aruba Dynamic Segmentation creates different queues for Wi-Fi 6 and non-Wi-Fi 6 clients to ensure the best
performance for both types of client 

C. Aruba Zero Touch Provisioning (ZTP) enables the Aruba solution to automatically provision connected wireless
clients with optimized settings. 

D. Aruba Client Match is aware of which clients support Wi-Fi 6 and distributes clients across APs so as to optimize
throughput. 

Correct Answer: A 

 

QUESTION 3

A customer has a data center visualized with VMware. 

What is one benefit that the customer receives by adding Aruba Fabric Composer (AFC) to Aruba CX switches? 

A. AFC provides a plug-in that makes it simple for IT to provision network connectivity from within VMware vSphere 

B. AFC enables Al-division analytics for the Aruba CX switches, helping IT more easily troubleshoot and optimize the
switches tor the VMware environment. 

C. AFC enables the Aruba CX switches to support Virtual Switching Extension (VSX) for better integration into the
VMware environment 
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D. AFC provides built-in licenses for switch virtualization features such as VXLAN. making it more cost effective for
customers to use those features. 

Correct Answer: A 

 

QUESTION 4

How does IT need to transform to help companies stay competitive? 

A. IT needs to extend infrastructure refresh cycles so that the business can free up capital for other purposes 

B. IT needs to simplify so that it can respond more quickly in response to now requirements. 

C. IT needs to operate strategically by investing more capital in projects that might take several years to yield returns. 

D. IT needs to take more time to plan IT projects and acquisitions to ensure that they meet the company\\'s hoods. 

Correct Answer: B 

 

QUESTION 5

What is an example of now Aruba Central improves day-to-day network operations? 

A. It offers a simple interface and self-service portal. In which users can log In and easily solve their issues on their
own. 

B. It gives IT visibility across the complete network so that IT can better determine the source of issues. 

C. It gives IT deep visibility into issues on the server-side, whether servers are on-prem or in the cloud. 

D. It provides agents, which IT can Install on endpoints to automatically remediate network issues. 

Correct Answer: D 
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